Multiplication par 100 (E)

Trouvez chaque produit.

37 X100 = 18 X 100 =
87 X100 = 52 x 100 =
13 x 100 = 45 x 100 =
91 x 100 = 46 X 100 =
58 X 100 = 67 X 100 =
51 x 100 = 14 x 100 =
63 X 100 = 65 %X 100 =
91 x 100 = 61 X 100 =
32 x 100 = 31 x100 =
83 X100 = 40 X 100 =

MathsLibres.Com




Multiplication par 100 (E) Solutions

37 x100=3700

87 x100=8700

13 x100=1300

91 x100=9100

58 x 100 =5 800

51 x100=5100

63 X 100 =6 300

91 x100=9100

32 X100 = 3200

83 X100 =8 300

Trouvez chaque produit.

18 x 100 =1 800

52 x100=75 200

45 x 100 =4 500

46 x 100 =4 600

67 X 100=6700

14 x 100 =1 400

65 x 100 =6 500

61 x 100 =6 100

31 x100=3100

40 x 100 =4 000

MathsLibres.Com




